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1780 BHEARRE e 2248

S EEBAIRE

i HAZEERE (F3/4%-A) e

A om3h320m3% T ¥721.05 ¥210.52 ¥220.41

B 20m>&ZZ50m3%T ¥1,509.44 ¥169.03 ¥178.92

(oF- 50m3%ZX100M>%T ¥1,741.66 ¥164.14 ¥174.03

D& 100m>*%2Z2250m3%T ¥1,973.88 ¥161.70 ¥171.59

Ex 250m>%ZX500m>%T ¥2,515.73 ¥159.41 ¥169.30

F& 500m3%ZZ3IEES ¥6,753.79 ¥150.49 ¥160.38
& )\WE—TIRHRESRZATS>

s 1780 BEANE . 224

S EEBATRE

HEm HAIERE (F3/%-B) (ERERD) 6RREH

AZ om3h320m3% T ¥683.10 ¥210.52 ¥220.41

B 20m3%Cz50m3FT ¥1,430.00 ¥169.03 ¥178.92

(oF- 50m3>%&ZX100M3%T ¥1,649.99 ¥164.14 ¥174.03

D& 100m3>%Z2250m3% T ¥1,869.99 ¥161.70 ¥171.59

Ex 250m>%ZX500m3%T ¥2,383.32 ¥159.41 ¥169.30

F& 500m3%Z 33188 ¥6,398.33 ¥150.49 ¥160.38
*)\WE-TAWE] (H2)

1780 BEARE . 2248

S . . EUEBATRIE .

HEs HAZIERE (F3/4%-8) (IR 6RREH

AZ om3h320m3% T ¥759.00 ¥199.99 ¥209.88

B 20m3%Cz50m3FT ¥1,616.39 ¥160.58 ¥170.47

cx 50m3%ZX100M3%T ¥1,947.41 ¥155.93 ¥165.82

D& 100m>%£Zx250m3% ¢ ¥2,240.74 ¥153.62 ¥163.51

Ex 250m3%Zx500m3% T ¥3,900.93 ¥151.44 ¥161.33

F& 500m3&Zz 354 ¥6,620.37 ¥142.97 ¥152.86
& )\WE—TIRHATRINOZATS>

17A0D BEARE . 224F

" \ EABATRE

a HAZIERE (F/45-8) (RERARE) 6AEt

AE om3p520m3ET ¥721.05 ¥210.52 ¥220.41

B 20m>&Zx50m3FT ¥1,509.44 ¥169.03 ¥178.92

cx 50m3 &z 3184 ¥0.00 ¥172.00 ¥181.89
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JRA &SR ER R 9.89 F/m [FiA]

EFRRAR] 20224F7H
(=]
RIS B E R 20224F2R ~ 20224F4R
> DB - 94,500 Fm/tl#iik)

(M EEDFIEMIBEE DRIIRERDLNG - LPGEA B ES SUHA M)

EAERYFERMEE (F) 83,350
LNG (F) LPG (M)
20224F2 8 ~20224E4 81 93,910 98,180
b HDIRBHEEDEE
(FTERHL)
R EEDLNGIEIIiE % 0.9576 + RO HIDLPGFII4fiEx0.0446
= 93,910 M/t x0.9576 + 98,180 M/t
= 94503.404
= 94,500 M/t (100fiZzMERA)
[RARUIHS ZENEROETE
(FTERHL)
N> 2 fe DIEARMITHS — B T4 BURMEiAS
= 94,500 M/t - 83,350 F/t
= 11,150
= 11,100 3/t (100FRBLIE)

JERIE A EEBEM(M3HIDFAELR)DETE !

(FtEIRHL)

FERUTEZEI%E + 100 x 0.0891

= 11,100 FH/t+ 100 x 0.0891 = 9.89 M/m
SHERA (0.081x1.1)

(FAZEREN T S ADBF 3/ N EE M= UIDIE T, YA FADBF I/ N EE 3z b0 L (F)
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